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READENMZXT S KiEADEMZFTF S KA DKEEMIZXET D

BR SHEATTHEHE SHEAFTHIEE HHEAMTHHE

T mmEsa | acevm | mEems (o) | AT (o'
1 | & 583,517,771 [ LNxbh&EH 1,276,530 Ly ET 154,974,747
2 |LvbhEm 59,285,968 | HRFREREE 44 AT 107,952 | BRFRAREE #5HET 72,428,122
3 | {REERIRET 23,080,831 | EBLLTH 19,476 | AR L EPET 9,164,896
4 | EEAIEREE AT 8,692,214 | MEEERILEFAT 11,066 | RBERRAADFT 4,868,746
5 |X=EM 7,270,419 | 2B 8,193 | ABLUTH 2,026,942
6 |HEM 7,254,352 |HE™ 7,947 |HAE™ 899,245
7 | B)IAN S B ET 6,007,800 | K:AERRBFOFT 6,824 |EE™ 855,935
8 |ZE#Im 3,268,386 | 74 ;AT AR T R4S 6,612 |ZEEIlTh 520,332
9 | MEEERIL Er AT 3,173,952 | B& I 6,596 | 78 BRI AR FE b AT 508,973
10 |BFH 2,958,178 |FHE™ 5,047 |FEAHEET 311,529
11 |8Ah 2,642,239 |EZ AT 3,533 | BJIERE)IIET 147,668
12 | SEERH 1,841,084 | &iEFEh 3,236 | BAR=E IR FHT 96,496
13 | TR A AR SR UG AT 1,584,219 | AL ZER @B+ 1,858 | BBRRARALIG AT 73,654
14 |{FEZETH 1,503,720 | INEE AR ZERT 1,250 | EZ AT 47,140
15 |FEHEET 1,494,389 | B )IIBR K& ET 423 | EREENE A BT 20,004
16 SRR RET 1,417,161 | BJIERFR )BT 262 | =B IERRESET 17,829
17 |&8E™H 1,297,086 | B ER=ZHT 241 | FEEE R ET 13,530
18 | SRR 721,764 |l BER IR IR T AT 227 | MEEEMEZERT 12,582
19 | &JIERZEIET 710,174 | :al;BERHN;EHET 193 | KiBASEXEHE 5476
20 | =& 692,738 | KiBER= £ = B HT 178 | 76 &3] BR < R BT 3,491
21 |5 ERFTHh AT 483,917 | 78 B3 ;A BR SR R AT 128 | B AR BT 3,073
22 =2 A F = IEHAT 419,586 | ERRRERILIGIR+F 110 | &FE R H 2,499
23 ||E I EBHAET 348,076 | &I ER% ) ET 85 | A 1,353
24 | MEER = & ET 327,400 | B4 ER/NEFAT 78 | BFiTH 1,065
25 |EBIIEESET 215,985 | B I ZB4H = BT 73 | BT ER/NEF BT 606
26 | 768 AIER R RET 197,317 | FERE R ET 57 | FAR AR IS A 483
21 |E%ATH 154,201 | E#EEBEHERE] 50 | BRRRER A = E AT 376
28 | ERAxERFE=IEET 152,714 | BRFRER Fa <= 2 E] 27 | =& ZR A = BT 317
29 | BRERERAE 45 BT 146,644 | HF 13 | B ER =0T 146
30 |{RERRZITHT 138,010 | AT 6 | = )IIERE )BT 44
31 | &NIERAR)IET 116,587 |:ALBER S IIAT 5 |RAER =) A 24
32 | BNERE)IFT 114,776 | & PR EX=IE S =T 4
33 | EATER/NEFET 79,457 | B I EB i HET 1 | FEh 1
34 =EED TR 68,087 | Bl 1 | A=A r =2 0
35 |AIBER=EIR FHT 41,136 |EA=EAmEE 0 | MEEER = i BT 0
36 | ERERREN 39,864 | 185 EREAREEAT 0 | KiBER< ILIET 0
37 |BERAIES B4 37,419 | 78 B AT ER SR I AT 0 | FE=i2E0 T SHIET 0
38 | WMEEERRIAT 32,262 | MEEERKHE 0 | &R ER p &4 0
39 | BATER=&HT 24,264 | SREBREHN 0 | A= 0
40 | EERAKAEHT 22,155 | ERRRER¥E i (L HT 0 | BRAxER¥E i LT 0
41 | ALBERNEET 18,900 | FA<ERR R RET 0 | 48 & BB b BT 0
42 | FERRE R BT 10,293 | WEERRRILHET 0 | gl 0
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BR SHEATTHEHE SHEAFTHIEE HHEAMTHHE

] (10°m?/ ) HRATH 4 (10°L/ ) AT £ (10°L/%)
43 | REBKREH 9,793 | REERSEIFET 0 | &I ARy B T 0
44 | EB)IEBIHET 7,909 | FEERI{RET 0 |ma&i2E R RET 0
45 | KiBEb=iEXEHET 4,479 | FEA=IEE T 40T 0 | BRERREAT 0
46 | BRAxER¥E (L HT 4,389 | REBKEH 0 | ZEBKREH 0
47 | EEER I EERT 4,331 | KiBEB& ILIET 0 | FEER)IRET 0
48 |:AIBERS )+t 2,621 | MEAR = [EET 0 | MEEARAKEERT 0
49 | BEEERHE ZEHT 1,700 | BNIEBENIF 0 | B AT EB SR A 0
50 | ERFRERALIERAT 1,270 | BEERRIEEHRT 0 | EEEBAZERT 0
51 | KiBERRBANAS 1,245 | B)IBFEEF 0 | MEEERRITHT 0
52 | HEBRAREREERS 962 | #8 & &R FHh BT 0 | BIERE)II+T 0
53 | KiBENEILET 488 | AET™ 0 | HHEEREREEAT 0
54 |BIIETFEHH 209 | BRI E R B4t 0 | BIEFEEH 0
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